Efficiency vs dr

1078 1072

[ Efficiency vs dr (track,jet) |

1 r'
—s— DQM_original_step2_ttbar-phasel-newgeom
.| —— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

71

.§0.02

0.018F
E r
0.016F
9.014F
> C
®.012F
o F
(&)

2 0.01F
(] r
0.008F
0.006F
0.004F
0.002F

Vs

Ratio
N

0.95

107 1072

1
AR(TP, jét)

5 0.1 - - . .
T oo o ;
L R et S
B0
G007;— ----------- - ------- .. ....... _‘
.06+ i SO SO OO SO
0.05F-++++ireeee SRS SO S SR
s SR I T S
0.03F-+++++iveeeeeienenees
0021 H """"" + R
0.01f +iﬁ‘:"w+¥} o
o J.GE =N P - | L ||
T F : :
[ 11:— ...........................
1— ----- i AL S A
9967720 60 80 100 120 140

Pileup

—_— DQM _JlerCPETempIateCutCh|SquareNew7 step2_ttbar-phasel-newgeom
. ] I |Iij ll'h LTI~ =

1
TP min AR

-1




	Contents
	Page 1


